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00 R(Y,)0000000000000000000000000000000000
R(Y,)OOO R(Y,)0000000000000000000YOO0O000000000
00000000000000000000000000000000000

000000Y,+10000000000000000000000000000 R(Y)
000000000Y,000Y%+100%00000000000000000000
000000000000000000000000000000000000000

3.3.1 0OO0OO0O0O

gbbobouogobboooobbbuoooobboooobbb1oaoon

gobobodogoobooboogoobbooboooobobobbuooooboobo
gbobboogobobbbouoooobbboooobbbooooobbobobuoooon
O00000000000000000000000 RY,)OOODOOO R(Y,)OOOOO
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gogbboooobbb 1 gbbbuoodgbbo

00 RY,)Dooooooo ;
Yo=0;Y1=0;
while (Y} < RH) do
Y=Y, 00000000 =0;
whileY < RHOODODOOOODOOOO <R(Y,)OOOO do
for X =0 to RIW — 1 do
LﬁsﬂXJj<0ﬂwn
| 000000 ++ ;
L Y++;
if 00000000 >R(Y,)OOOO then
Yi=Y —2;
/00000000000 RY,))boooooooooooox*/,
else

| Yi=RH;
TMP+ RY,)OOOooOooooooog;
for Y =Y, toY; do
for X =0 to RW — 1 do
if sf(X,Y) <0 then
(X, VooooooooormMpoOO
LTMP%R(%)D TMPOOOOODOOOOO ;

TMPOOOOOO;
for Y =Y, to Y] do
for X =0 to RW — 1 do
if sf(X,Y) >0 then
| (X, V)OOODOOO (X,Y)0OOO ;
else
TMPOOO (X,Y)OOO ;
LTMPDDDDDD ;

Yo=Y, +1
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3.4 OOO0OOOO0OOO

O00000000000000000000000000000 (z0,y) 000000
gboobobuogbbodbboboobbbboobobuooobuoobboobbon
000000000000 0000000008XMY)=X+W,YOOOOOOOOO
gooobbobbbbbbbbbbbbbbbotboodooouooooooooooo
goobogudbogdgbuoogobuogbbuogbobooobuoobboobobon
0000 R(Y,)ODOODODODDODOOOOOOO3.6000390000#=150000000
goboooddg

g 36 0boouggogooonbbuouonbbn

000000000000000000000000000000000000000

0000003600390000000000000000000000000000

0 R(Y,)0OODO
0370038000000Y=00000000000000000000000
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g 38 bbouggooosubbouoanbon
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LED#A 4.0(c) 1991-1999 Max-Planck-Institut fir Informatik.
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40 0OU0OO

4.1 OO0

gbuogoobbbogboogbogobogobuogbbuogbboooooooon
ooboooboooboooboooboebbobooboobooboboOoboboobbobDboOoD
gbobbuooggbbbooobobobbooobbobooooboboboogoobooo

00000000000000000000 /2:1000000000000000
OOooooebpDo<e<o44000000000ODO0OOODOO 22500000000
gbobogobuogobuodgbbogbubbbboboouoooboobbooboon
gbbbuooogbbbduooobbboooobbbooon

gboubudboooobugobodbbooobboobbooboobbuooon
gboogbuogbbobooobda3sbbuobbuoobobboobbooboon
gboboggbuoguogobuogbbuoobbuogbboooboogbooobbooon
gboboogbugboobuoobbuoobbuogbbooodbooobooobbon
gobobbougogobobooooobobobbouooooobobobobobobboooan
gbogbobodbbobboobbooobboobuooobuoooboboobobon
gboboboggobooboogn

4.2 0OOO0O0O

gbuodgbboobodgbbboobboobuoobboogboobboobooon
gbogoogbogboobuogbogoooboobooboobuogbuoobuoooag
gbogbobuodgbbodbbobouoboobboobbobobuooboboobbon
gogdobbogooobbuoooobbbuoooobbbuoooobobooon
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BN

gboogbogbodbobbobbooboobboobobboobooboboon
gboboggbugobuogobuogbbuodbouoobobbuogboobooboon
gbogbobuodgbbodbbobobuoobbbobboboobuooboboobbon
gboobobodbuooboboobuooobuoobboobuoobboboobobobon
gouogobodgbodgbboobugbogbbooobobobboobooooban
gboogoobbodgbbobbobuoboobbuoobbuoobbuoobboobbo
goboggbugobuooobuodgbbuobugbbooobuogbobbooboon
gbobbuoooobbbooobbbboooobbbogo
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